STREET PLANT VALUE

DOES NOT INCLUDE BITUMINOUS SURFACE WITH SIDEWALK

Village at Autumn Lake Phase 2 11315

STREET

Description	From	То	Quantity	Unit	Ur	nit Cost		Total Cost
Levitan Lane	W Line of Lot 681	Red Fern Lane	182	L.F.	\$	83.21	\$	15,144.22
32' WIDE								•
MS LINK NO. 23286								
Levitan Lane	Red Fern Lane	Pipers Brook Drive	268	L.F.	\$	82.54	\$	22,120.72
32' WIDE								
MS LINK NO. 23287								
Levitan Lane	Pipers Brook Drive	E Line of Lot 671	339	L.F.	\$	84.09	\$	28,506.51
32' WIDE								
MS LINK NO. 23295								
Pipers Brook Drive	Levitan Lane	S Line of Lot 616	115	L.F.	\$	85.10	\$	9,786.50
32' WIDE								
MS LINK NO. 26036								
Red Fern Lane	Levitan Lane	S Line of Lot 593	153	L.F.	\$	85.10	\$	13,020.30
32' WIDE								
MS LINK NO. 23285					L_		L	
O.L. 44 Alley	Levitan Lane	S Line of Lot 593	141	L.F.	\$	69.70	\$	9,827.70
12' WIDE								
MS LINK NO. 23290								
					· T ·			
					· T ·			
					. L			
					.L			
					.L.			
								·
							L	
GRAND TOTAL COST							\$	98,405.95
GRAND TOTAL COST							φ	30,400.95

TOTAL STREET IMPROVEMENTS \$

139,730.30

Prepared By: CD

Date: 4/4/2018

STREET PLANT VALUE

SIDEWALKS

Village at Autumn Lake Phase 2 11315

SIDEWALK

Description	Limits	Limits	Quantity	Unit	Un	it Cost		Total Cost
_evitan Lane	W Line of Lot 681	Red Fern Lane	1765	S.F.	\$	3.83	\$	6,759.9
5' WIDE								
MS LINK NO. 23286								
evitan Lane	Red Fern Lane	Pipers Brook Drive	2720	S.F.	\$	3.96	\$	10,771.2
5' WIDE								
MS LINK NO. 23287					<u> </u>			
evitan Lane	Pipers Brook Drive	E Line of Lot 671	3410	S.F.	\$	3.62	\$	12,344.
5' WIDE								
MS LINK NO. 23295								
Pipers Brook Drive	Levitan Lane	S Line of Lot 616	1270	S.F.	\$	4.00	\$	5,080.
5' WIDE								
MS LINK NO. 26036								
Red Fern Lane	Levitan Lane	S Line of Lot 593	1650	S.F.	\$	3.86	\$	6,369.
5' WIDE								
MS LINK NO. 23285								
					 			
		,			T			
					1			
							i – –	
					1			
		·-i			- 1		i— —	
					İ			
					i i			
		•	•		•		_	
GRAND TOTAL COST							\$	41,324.

Prepared By:	CD
Date:	4/4/2018

SANITARY SEWER PLANT VALUE

(Schedule 'A' / Sanitary Structures)

Village at Autumn Lake Ph 2

11315

STRUCTURES

Description 4' DIAM SAS Engineering @ 10%	Quantity 3	Unit EA	Unit Cost \$ 2,500.00	Total Cost 7,500.00
	_			
Engineening @ 10%				\$ 750.00
Total Cost			\$ 2,750.00	\$ 8,250.00
Extra Manhole Depth	14.57	VF	\$ 190.00	\$ 8,250.00 \$ 2,768.30
Engineering @ 10%				\$ 276.83
Total Cost			\$ 209.00	\$ 3,045.13
		 		
Engineering @ 10%				
Total Cost		L		<u>L </u>
Engineering @ 10%				
Total Cost		 _		
Engineering @ 10%				
Total Cost				
		+		
Engineering @ 10%				
Total Cost				
	 	†	1	
Engineering @ 10%				
Total Cost			1	
Engineering @ 10%				
Total Cost				
Engineering @ 10%				
Total Cost		<u> </u>	<u> </u>	L
5				
Engineering @ 10%				
Total Cost				
Engineering @ 10%				
Total Cost		-		
101010001		 		
Engineering @ 10%				
Total Cost		†		
		 		
Engineering @ 10%				
Total Cost				
r		 _		
Engineering @ 10%				
Total Cost		L		L
·				
Engineering @ 10%				
Total Cost				
Francisco estima (8) 400/				
Engineering @ 10%				
Total Cost	L	<u></u> .		L
GRAND TOTAL COST				\$ 11,295.13

SANITARY SEWER PLANT VALUE

(Schedule 'A' / Sanitary Pipes)

Village at Autumn Lake Ph 2

______11315

PIPES

	Description	Quantity	Unit	Unit Cost	Total Cost
8" PVC	<u> </u>	815	LF	\$34.00	
Engineering (@ 10%				\$ 2,771.00
Total Cost				\$ 37.40	\$ 30,481.00
Sanitary Tren	nch Compaction	815	TF	\$ 8.40	\$ 6,846.00
Engineering (@ 10%				\$ 684.60
Total Cost				\$ 9.24	\$ 7,530.60
Engineering (@ 10%				
Total Cost		+			
Engineering (@ 10%				
Total Cost					
Engineering (@ 10%				
Total Cost		·- -			
Engineering (@ 10%				
Total Cost					
Engineering (<u>@ 10%</u>				
Total Cost					
Engineering (<u> </u>				
Total Cost					
Engineering (@ 10%				
Total Cost					
Engineering (@.10%				
Total Cost					
Engineering (@ 10%				
Total Cost					
Engineering (@ 100/				
Engineering (<u>@ 10%</u>				
		<u></u>			
Engineering (<u> </u>				
Total Cost		+			
Engineering (@ 10%				
Total Cost					
Engineering (@ 10%	+			
Total Cost					
Engineering (@ 10%				
Total Cost		L1			
GRAND TOT	AL COST				\$ 38,011.60

STORM SEWER PLANT VALUE

(Schedule 'A' / Storm Structures)

Village at Autumn Lake Ph 2

11315

STRUCTURES

Description	Quantity	Unit	Unit Cost	Total Cost
H Inlet	5	EACH	\$ 2,500.00	
Engineering @ 10%				\$ 1,250.00
Total Cost	L		\$ 2,750.00	\$ 13,750.00 \$ 5,800.00
3X3 SAS	2	EACH	\$ 2,900.00	
Engineering @ 10%				\$ 580.00
Total Cost		<u> </u>	\$ 3,190.00	\$ 6,380.00
4X4 SAS	3	EACH	\$ 3,700.00	\$ 11,100.00
Engineering @ 10%			0 4 070 00	\$ 1,110.00
Total Cost	+	<u> </u>	\$ 4,070.00	\$ 12,210.00
Engineering @ 10%	+			
Total Cost				
	+			
Engineering @ 10%				
Total Cost				
r				
Engineering @ 10%				
Total Cost				
Engineering @ 10%				
Total Cost				
	†			
Engineering @ 10%				
Total Cost				
- · · · · · · · · · · · · · · · · · · ·				
Engineering @ 10%				
Total Cost		 		
Engineering @ 10%				
Total Cost				
Engineering @ 10%				
Total Cost				
Engineering @ 10%	1			
Engineering @ 10% Total Cost				
	+	<u> </u>		
Engineering @ 10%				
Total Cost				
	†	 		
Engineering @ 10%				
Total Cost	<u> </u>			
	_ _			
Engineering @ 10%				
Total Cost	L	 		
Engineering @ 10%	1			
Engineering @ 10%	+			
Total Cost		L———	Ţ.	└───
GRAND TOTAL COST				\$ 32,340.00

STORM SEWER PLANT VALUE

(Schedule 'A' / Storm Pipes)

Village at Autumn Lake Ph 2

11315

PIPES

Description	Quantity	Unit	Unit Cost	Total Cost
12" RCP	143	LF	\$ 42.00	\$ 6,006.00
Engineering @ 10%				\$ 600.60
Total Cost			\$ 46.20	
15" RCP	63	LF	\$ 47.75	\$ 3,008.25
Engineering @ 10%				\$ 300.83
Total Cost	.L		\$ 52.53	\$ 3,309.08
21" RCP	183	LF	\$ 45.25	\$ 8,280.75
Engineering @ 10%				\$ 828.08
Total Cost	· 		\$ 49.78	\$ 9,108.83
24" RCP	425	LF	\$ 51.00	\$ 21,675.00
Engineering @ 10% Total Cost			¢ 56.10	\$ 2,167.50
Storm Trench Compaction			\$ 56.10 \$ 2.70	\$ 23,842.50 \$ 2,197.80
Engineering @ 10%	814	TF	\$ 2.70	\$ 2,197.80
Total Cost			\$ 2.97	\$ 2,417.58
	++		φ 2.91	2,417.50
Engineering @ 10%				
Total Cost				
1000				-
Engineering @ 10%	1			
Total Cost				
	+			
Engineering @ 10%				
Total Cost				
				T
Engineering @ 10%				
Total Cost				
Engineering @ 10%				
Total Cost				<u> </u>
- · · · · · · · · · · · · · · · · · · ·				
Engineering @ 10%				
Total Cost				
Engineering @ 10%				
Total Cost	+ +		+	
	++			╄╼╼╼╼╼┥
Engineering @ 10%	+		1	
Total Cost			<u>† </u>	
	·++			╄╼╼╼╼╼┥
Engineering @ 10%			1	†
Total Cost				1
	·		Ī	┮−−−−
Engineering @ 10%				
Total Cost				L <u></u>
Engineering @ 10%				
Total Cost				L
GRAND TOTAL COST				\$ 45,284.58